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Let’s solve the riddles and give an answer

Aunpanapa aK otay
Ay3bl-MYPHbI XOK,
oTtay.

Anaca faHa bombl
bap,

AnHanpbipbIn KUreH
TOHbI 6ap.

A little woman has
twelve children.

It is vegetable

It has many eyes.
Be3eT, a He nowaab,
IleTnTt, a He NnTMUA,
XyxOoKuT, a Ha
nyena.

in three languages.

6. KepreHim ok Hak Oynapaau

apTUCTI,

Typi 6ipaen, an izgepi ap

TYCTi.

7. BacbiH KaKwaHpaaTca aa. .
Keyneci keTtepe anmauabl,
Tyn-Ty3y Kene xxartca aa,
XanTtapbin-oynrapbin
angangbl.

8. On e3i KonbIMAaarbl
enreserim,

XXymMmcacam, anTakbipaa Xo
Ke3epiMm. _ '
9. Cy iwiHAae xenirep,
KyM ycTiHOe pemirep.
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1- team:

ocunyrt
repsent
rnefch

lidhoay

2- team:
erthegot
dinerf
velyol
netogu




m

1- team:

ocunyrt — country
repsent - present
rnefch — French
lidhoay — holiday
2- team:

erthegot - together
dinerf - friend
velyol — lovely
netogu — tongue

usafirova.ucoz.ru




Find the antonyms and translate them into Kazakh.
For the first group:

Fast---- cheap

Small----- dirty

Clean---- boring

Interesting----- big

Expensive----- slow

For the second group:

Safe----- easy

Famous----- cold
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